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1 AESHSSAANYY B A=
ARk FAR[(F) M 207} 2w [Hho] e of(F)] & 2x2 WA PR 7} 144
E

173 97 A NA T8 A B3] BAFFASt 28 EF A=A LESE SAI A Bl
ﬁﬂdiﬂmUCC&Q%EJ%Lﬂﬂ%ﬂﬂﬂﬁﬁ u], = 2k2] 90% 41 F] F31o] log 0.8 A
log1.25 oW EA AETFH O E F5TS YF3A=
B g 7 ek = Fug =
T AUC,. Crax
ghe/ml) | (ng/mi) () taltm)

o Z2F Ml 666.5+150.4 58.79+11.28 1.00(0.50~4.00) 10.37+2.17

[vho] A = 2] of(F)]
Aok T 664.4+145.9 58.56+13.33 | 1.25(0.50~4.00) | 10.66+2.10

() E=u 2]

90% A= -3 log 0.9649 log 0.9256
(715 : log 0.8 ~ log 1.25) ~ 1.0304 ~ 1.0566 ) )
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